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The first integrator input is equal to x(t)-x(t-T). The Fourier transform of this
input signal is [1-exp(-32xfT)IX(f). The value of this transform i1s zero at f=0, It
follows therefore that the Fourier transform of the first integrator output is equal to
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The second stage of the system is identical to the first stage, The overall transfer
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Problem 2.
(a) The transfer function of the ith stage of the system of Fig. p2.6 is _
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wnere it is assumed that the buffer amplifier has a constant gain of one. The overall
transfer function of the system is therefore
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The. corresponding amplitude response is
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Then, we may rewrite the expression for the amplitude response as
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In the limit, as N approaches infinity, we have
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Problem 3 _

(a)

We note that
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